RUN 1 - 19 avril 2013 au 22 avril 2013

FilteringCondition 2
Coincidence X/Y Yes
seuils 200 mV
matrices sans blindage
distance intermatrice 8D cm
inclinaison 0°
angle zénithal 90°

azimut 90°
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RUN 1 - Nano time distribution
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RUN 1 - Time variation N canals illuminated - MAJ 2 CXY
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RUN 1 - Mean ADC VS Illumination threshold - MAJ 2 CXY

whole telescope MAJ2 CXY adc normalized histograms FRONT MAJ2 CXY

HJ ‘” |

T =
o N b O

o o

illumination threshold

IN

1 15 2 25 3
log10(adc)

MIDDLE MAJ2 CXY

=
(o))

=
~

=
N

=
o

illumination threshold

!

1 15 2 2.5 3
log10(adc)

REAR MAJ2 CXY

161

14¢

12¢
101

illumination threshold

&

15 2 25 3 1 15 2 25 3
log10(adc) log10(adc)



illumination threshold

16

14

12

10
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